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1 Year (T.D.C.) Science Examination, 2016
STATISTICS

(Computational Techniques & Official Statistics)

Paper—I11
Time Allowed : Thfee Hours

Maximum Marks : 50

PART-A (@Us-H ) Marks : 10
Answer all questions (50 words each).

All questions carry equal marks.
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PART-B (m”é’—a) [Marks : 25

Answer five guestions (250 words each), selecting one

from each Unit. All guestions carry equal marks.
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PART-C (@U=2-W) [Marks : 15
~ Answer any two questions (500 words each).

All questions carry equal marks.
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Write the full form of N.S.S.0.
g N
NSS.0. & [ 99 = 72
(11) Name the Statistical Organisation under the
Government of Rajasthan.

- o I by N ’
TSET ¥R & o =8 59 o ey

(1i1) What is full form of LPP ?
LPP & U 99 &+ &2

(iv) Name the methods by which LP problems can

be solved.
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(v) Give fhe defiﬁi.tio_n of Forward difference

operator.
ST stfatex w1 uftamn T

(vi) What is the value of A%f(a+h) ?
A%f(a+h) BT F it YA

(vil) Why do Wevneed Divided differences. ?
fywfe SR @ STeRESAl F §?

(viii) What is the value of f(a,.b) /4
fa, b) W F A g 872

(ix) Which formula of Numerical integration is most

appropriate when the function is a parabolic
type ?
FeTeTE TIEeR @ Ty wA-w SAfaE SugH
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(x) State Simpson’s one-third rule.
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PART-B
(TUe-v)
UNIT-I

(SHE-I)

Explain the functions of Central Statistical

Organisation in India and name its publications.
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How Agricultural Statistics are conducted in Indig ?

Discuss it.
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UNIT-II

(ZhTE-II)

What is Simplex ? Describe the Simplex method of

solving Linear programming problem.
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Define and explain the followiﬁg terms in LPP :
(a) Basic Feasible solution |
(b) Slack and Surplus variables

(¢) Artificial variable

(d) Degenerate solution. |
Lppﬁﬁ%‘@aﬁﬁvﬁmﬁa@fw:
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(b) ~[TOTRF T enfuegeer =R
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(d) =g el

UNIT-III

( BeRTE-1I1 )

State and prove the Newton-Gregorye’s formula for

Forward interpolation.
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UNIT-IV

(THTE-IV)

8. Derive Lagrange’s interpolation formula for unequal
interval.

SO ST & T SRS @ STayH g Wl W
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9. If f(x):i; x = a, b, ¢, d, obtain divided differences
X

of all possible orders.

i< f(X):-]:-; x=a,b,c d %, ar gt wa &% faufsa
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UNIT-V
(Z=E-V)

10. State and prove Trapezoidal rule.

Tiomea fam w o @ Es IR
i1. Evaluate log 7 by Simpson’s (1) grd rule and

a
(i1) 'é'th rule.




12.

13.

14.
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PART-C
(Tus-7)

Describe the functions and activities of N.S.S.0O.

N.8.5.0. = && wg wffafual @ goig ST

Solve the following LP problem -
Maximize @ Z-= 4x; +3x,
subject to X; +x, <50

X, +2x4 >80
3x; +2x, > 140

Xq, X5 2 0.

F=fafes L wgen =) T wivT .

aWa

Afywaa Hifst Z = 4x, - 3x,
Safs Xy %xz <50

X; +2x, > 80

3x; +2x, > 140
Xy, Xo >0.

(a) Evaluate -
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(b) Prove the following identity :

X _Au +————
1-x® = (-=)

where u, is any function of x and 0 <« x < 1.

(2) ®H FA@ HIST

) T wiree = fas =S

D:¢

WX u2x2 + u3x3 C = uy +
2 1-x

2 3
—X—ZAu1 .3 ———x——s-Azul SO
(1-x) (1-x)

SafF u, x 1 HE FET € M 0 <x<l

15. What are Divided differences ? Prepare a divided

difference table for the following data :

W
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b-4 : k 2
u : 22 30 82 106 216



16.
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s ORell AR -
x 1 2 4 7 12

. 22 30 82 106 216

X

Obtain general Quadrature formula for equidistant

1
ordinates and hence derive Simpsons’s —érd rule.
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